Exercise Questions 2.2
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#include <stdio.h>[
#include <math.h>[
#include <stdlib.h>[ [

int radiancheck(double *a){//0 radian0-200 00000 pild
double check=%a;[]
while (0>=check) {0
check+=2*M_PI; [
O
while (check>=2*M_PI){[]
check—-=2*M_PI; [
O
*a=check; ]
oo

int kepler (double *E, double M, double e){//[ Mradian[]
double Er=M+e*xsin(M)+exe*xsin(2%M)*0.5+exe*e*(0.375%sin(3*M)
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-0.125*%sin (M) ) +e*xe*xexe* (sin(4*M) /3.0-sin(2*M)/6.0) ;0

radiancheck (&Er) ;O
*E=Er;[]

return 0;0

¥ao

int position(double *x, double *y, double E, double a,double e,double

varpi) {0
double
double

xr=a* (cos(E)-e) ;0
yr=a*sqrt(1-e*e)*sin(E) ;[

xx=xr*cos (varpi) —yr*sin(varpi) ;[

*xy=xr*sin(varpi)+yr*cos(varpi) ;00

return 0;0

0o

int main(void)O O O //AU0O , ,radian0

{00

FILE *fp,*fq, *fg;l
char filename[128] ;0

double
double
double
double
double
double
double
double
double
double
double
double
double
double
double
double
double

aE=1.00000011;0

aM=1.52366231 ;[

eE=0.01671022;0

eM=0.09341233;0
ME2000=6.239851574;//mean anomaly[]
MM2000=0.338811692; 0
EE2000=6.239838726;//eccentric anomaly[]
EM2000=0.339405546 ; (]
nE=6.28318427;//mean motion[]
nM=3.34077157;
xE2000=0.982350572;//0 0 J2000(x,y)O
yE2000=0.043326963; [

rE2000=sqrt (xE2000*xE2000+yE2000*yE2000) ; (]
dxE2000=-0.276891887 ;]
dyE2000=6.382967195; [
xM2000=1.294412706; [
yM2000=0.505049702; 0
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double
double
double
double
double

rM2000=sqrt (xM2000%xM2000+yM2000*yM2000) ;[
dxM2000=-1.858355928; 1
dyM2000=5.240433398; [
varE2000=1.796767421;0
varM2000=5.865019079; [

int year=2000;0
int month=1;0

double
double

ME, MM, EE, EM;[
xE,xM, yE, yM;[

fq = fopen("kep00000.dat", "w") ;[

double

distance=sqrt ( (xE2000-xM2000) * (xE2000-xM2000) + (yE2000-

yM2000) * (yE2000-yM2000) ) ; [
fprintf (£q,"%1f %1f %1f %1f %1f %1f %1f %d %d\n",EE2000,
XE2000,yE2000,EM2000,XM2000,yM2000,distance,year,month);[
for (int t = 1; t <= 15%12; t += 1)

{0

sprintf (filename, "kep%05d.dat", t);0
fp = fopen(filename, "w") ;[
ME=ME2000-nE* (double)t/12;[]
MM=MM2000-nM* (double)t/12; [
radiancheck (&ME) ;O
radiancheck (&MM) ;O
kepler (¥EE, ME,eE) ;[
kepler (¥EM, MM,eM) ;[
position(&xE,&yE,EE,aE,eE,varE2000) ;[
position (&xM, &yM,EM,aM,eM, varM2000) ;[
distance=sqrt ( (xE-xM) * (xE-xM) + (yE-yM) * (yE-yM) ) ; [
if (month-1==0){0
month=12;0
year=year-1;[]
FYelse{O
month=month-1;
YO
fprintf (fp, "%1f %1f %1f %1f %1f %1f %1f %d %d\n",EE,
XE,yE,EM,XM,yM,distance,year,month);D
double rot=EE+varE2000- (EM+varM2000) ;[
radiancheck (&rot) ;0
if (fabs(rot)<M_PI/10)printf ("%d %d %1lf\n",year,month,
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distance) ;0

fclose(fp) ;[

if ((fg = popen("gnuplot -persist", "w")) == NULL)[

{0
fprintf (stderr, "Error!") ;[
exit(2);0
o
fprintf (fg, "set print ’-’ \n");O
fprintf(fg, "set terminal png size 800,600 \n") ;O
fprintf (fg, "set x1 ’x[AU]’ \n");[O
fprintf (fg, "set yl ’y[AU]’ \n");O
fprintf (fg, "set xr [-2:1.5] \n");O
fprintf (fg, "set yr [-2:2] \n");0O
fprintf (fg, "set size ratio -1\n");0O
fprintf(fg, "set grid\n") ;0O
fprintf (fg, "set label 1 point at 0,0 ’sun’\n");0
fprintf (fg, "set output ’kep’05d.png’ \n", t);0

fprintf (fg, "plot

’kep’k05d.dat’ u 2:3 t ’%d %d Earth’

pointsize 2 pt 8 ,’kep%0bd.dat’ u 5:6 t ’Mars’ pt

5 pointsize 2 1lc ’red’\n",t,year,month,t) ;[

fprintf (fg, "unset output\n") ;0

fprintf (fg, "set
fclose(fg) ;[

o

fclose(fq) ;0

return O;0

terminal qt \n") ;0O




